
HINGED DOOR
ELECTRIC STRIKE EC

WAREHOUSE PARTITIONING

88754707 ver. 003PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36907880

1/6

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D



Hinged door with electric strike EC

www.troax.com

A
rt

 n
o

: 8
87

54
70

7 
ve

r.0
03

 

2/6

Kit 7880 EC Electric strike 36907880

5 mm

Kit 36907880

Bag for kit 7880 88697880

3 mm

NOT INCLUDED

5 mm

x1 x1 x1 x1x1x1

x1

x1

36
90

22
39

29
50

70
10

36
90

22
29

29
50

44
00

29
50

44
20

89
20

00
00

89
05

12
75

36
90

22
19

36
90

22
09

x1

36
90

15
29

x1

x2

x2

x2

36
90

01
09

36
70

00
45

x2
M5x2089

05
02

09

x2
M5x1689

05
01

36

x13
M889

05
05

25

x3
M8x35 M5x16 M4x12

89
05

00
42

x7
M8x35

89
05

01
38

x3
M8x45

89
05

01
39

x2
M8x65

89
05

00
45

x1

x1

x1 x2

89
05

01
88

89
05

22
83

89
05

03
37

89
05

08
29



www.troax.com

A
rt no

: 88754707 ver.003 

3/6Kit 36907880

Bag for 
kit 7880

3
13mm

M8x35

M8

M8

4
13mm

M8x65

Bag for 
kit 7880

Bag for 
kit 7880

1

M8x35

M8

2

M8x35

13mm
5 mm



www.troax.com

A
rt

 n
o

: 8
87

54
70

7 
ve

r.0
03

 

4/6 Kit 36907880

5

M8x35

M8

Kit UXP 
Swing door

Kit UXP 
Swing door

M8x35

M8

6 10 mm

13mm

13mm

5 mm

7



www.troax.com

A
rt no

: 88754707 ver.003 

5/6

10 13mm5 mm

Kit 36907880

11

M8x35

M8

Kit/bag7880Bag for 
kit 7880

3 mm

8

Bag for 
kit 7880

Bag for 
kit 7880

M5x16

9
3mm 3mm

M5x20

NOT INCLUDED

M8x35

M8

Bag for 
kit 7780 12

13mm5 mm

13

Kit 7730

M5x16


